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–
– – –

V2 = 42 / 146 = 0,288; V3 = 20 / 146 = 0,137; V4 = = 43 / 146 = 0,295.

V1 V2 V3 V4
0,281 0,288 0,137 0,295

-

PK1–1 = 5860 / 8124 = 0,721; PK1–2 = 5860 / 6372 = 0,92; PK1–3 = 5860 / 5910 = 
= 0,992; PK1–4 = 5860 / 5860 = 1,0. 

–

– – – 0,8.
-

4.

-
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0,721 0,920 0,992 1
1 1 0,5 0,8

0,33 0,15 1 0,66
0,6 1 0,2 0,8

5.

P (1…4) 0,908 0,825 0,535 0,650
R (1…4) 0,103 0,212 0,551 0,385

R 1,251
Z (1…4) 0,082 0,170 0,441 0,307
W (1…4) 0,182 0,229 0,289 0,301

 iP
N
1Pi  (1)

+ 1,0) / 4 = 
= 0,908; = 0,535;

= 0,825; = 0,65.

 Pi-P
PiN

1Ri  (2)

0,721-0,908 + 0,92-0,908 + 0,992-0,908 + 1,0-0,908
R1= =0,103;

4 0,908

1,0-0,825 + 1,0-0,825 + 0,5-0,825 + 0,8-0,825
R2= =0,212;

4 0,825

0,33-0,535 + 0,15-0,535 + 1,0-0,535 + 0,66-0,535
R3= =0,551;

4 0,535
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0,6-0,65 + 1,0-0,65 + 0,2-0,65 + 0,8-0,65
R4= =0,385.

4 0,65

 iR= R =0,103+0,212+0,551+0,385=1,251 (3)

 
R
RiZi  (4)

Z1 = 0,103 / 1,251 = 0, 082; Z3 = 0,551 / 1,251 = 0,441;
Z2 = 0, 212 / 1,251 = 0,17; Z4 = 0,385 / 1,251 = 0,307.

 
2

ZiViWi  (5)

0,281 + 0,082 0,137 + 0,441
W1 =  = 0,182;                   W3 =  = 0,289;

2 2
0,288 + 0,17 0,295 + 0,307

W2 =  = 0,229;                     W4 =  = 0,301. 
2 2

Ei = Pi Wi (6)

1-1 1-2

2-1 2-2

3-1 3-2

4-1 4-2

E =0,908 0,182=0,165;   E =0,908 0,229=0,208;
E =0,825 0,182=0,15;     E =0,825 0,229=0,189; 
E =0,535 0,182=0,097;   E =0,535 0,229=0,122;
E =0,65 0,182=0,118;     E =0,65 0,229=0,149;

1-3 1-4

2-3 2-4

3-3 3-4

4-3 4-4

E =0,908 0,289=0,262;   E =0,908 0,301=0,273;
E =0,825 0,289=0,238;   E =0,825 0,301=0,248;
E =0,535 0,289=0,155;   E =0,535 0,301=0,161;
E =0,65 0,289=0,188;     E =0,65 0,301=0,196.
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6.

-

E 1 0,165 0,208 0,262 0,273
E 2 0,150 0,189 0,238 0,248
E 3 0,097 0,122 0,155 0,161
E 4 0,118 0,149 0,188 0,196

0,530 0,667 0,843 0,878

 (7)

= 0,53;
+ 0,238 + 0,155 + 0,188 = 

= 0,843;

=
= 0,667; = 0,878.

0,878.

1.

2.

3.
-

1. -
– – 326
2.

3. -
– – 560

4. – :
– 206

5. – :
- - – 81
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6.
– – 92

7. - -
– – 264

8. –
1979. – 64

9.
– – 116

10.

-
– – 71

11. -

- – – 93
12. – – 144
13. – - – 513
14. -

–

49]. –

11].

-

- -

-

156


